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46%20+4+3(54+ %) =

123.6-25)+3x2+2=

48—-332-48)=

1 1
-~ —4(<+32)=
2 (2 )

2
I5(3+2D)+5x2+54 =

[

UN: ATLLUU:

3
7 X25+545(46-5)=

11
32x4+2-3(=+ =)=
G+3)

3 301
Cx16+4+4(2— <) =
4 73

3
10(5 +5.7)+2x 3~ 44 =

1
8(5+22)+4x2-33 =
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2 202 2 3 7 3
4.6% 2044354+ 2y= 2%~ 40° 2 X 25+54+5(4.6—5)=~ 1"
6% 20 +4+3(54+ 2)= - = 40 2 X25+545(46-5)= 5 = 12
54 4 11 2 2
123.6—2.5)+3x 242 =20 — 102 oxden_ar 22,2
(3.6 2.5)=3 x = = 102 3.2 x 35 +3)= 5 = 4
48 3 3 23
48-3(32-48)= 2 =92 2 1644440 — 2y = = = 7=
8-3(32-48) = =92 < 16 G-9=2=7
11 143 3 3 518 3
L A= 432) = (2= (—14> 102 +57)+2x3—44= "0 —1032
5 U332 = 1) = Clag) 05 +57)=2%3 5~ 1033
2 107 2 1 &3 3
15(2 +2)+5x2+54= L =212 L 400)+4x2-33= 2 -6
M3 H2)TIN2H54= = 5 (5 +22)74x2-33= 15 =675
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